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zu Aufg. 8.2
Frequenz f Xc Z Pr\asen- Re{Z} Im{z} ¥4 ZEIEEIINES
winkel ¢ von Z
0,05 kHz 1kQ| 318,310 kQ 1,000 kQ -0,18°| 999,990 0 -3,142Q| 999,995 4,000 cm
1 kHz 1kQ 15,915 kQ 0,998 kQ -3,60°| 996,068 2 -62,5850 | 998,032 02 3,992 cm
2 kHz 1kQ 7,958 kQ 0,992 kO -7,16°| 984,454 Q| -123,7100| 992,197 0 3,969 cm
5 kHz 1kO 3,183 kQ 0,954 kQ -17,44°| 910,1700| -2859380| 954,0280Q 3,816 cm
10 kHz 1kQ 1,592 kO 0,847 kQ -32,14°| 716,957 Q| -450,477 | 846,733 Q 3,387 cm
15 kHz 1kQ 1,061 kQ 0,728 kQ -43,30°| 529,587 0| -499,1240Q| 727,727 Q 2,911 cm
16 kHz 1 kQ 1,000 kQ 0,707 kQ -45,00°| 500,000 Q2| -500,000Q 707,107 2,828 cm
20 kHz 1kQ 0,796 kQ 0,623 kQ -51,49°| 387,727 0| -487,2320 622,677 0 2,491 cm
25 kHz 1kQ 0,637 kQ 0,537 kQ -57,52°| 288,400 | -453,018Q| 537,0290 2,148 cm
50 kHz 1kQ 0,318 kQ 0,303 kQ -72,34° 92,0000 | -289,0250Q| 303,3140 1,213 cm
100 kHz 1kO 0,159 kQ 0,157 kQ -80,96° 24,705Q| -155,2230Q| 157,177 0Q 0,629 cm
200 kHz 1kQ 0,080 kQ 0,079 kQ -85,45° 6,293 0 -79,077 2 79,327 02 0,317 cm
500 kHz 1kO 0,032 kQ 0,032 kQ -88,18° 1,012 0 -31,799 Q2 31,8150 0,127 cm
1.000 kHz 1kO 0,016 kQ 0,016 kQ -89,09° 0,253 2 -15,911 0 15,913 0 0,064 cm
10.000 kHz 1kQ 0,002 kQ 0,002 kQ -89,91° 0,003 Q -1,592 0 1,592 0 0,006 cm
100.000 kHz 1kO 0,000 kQ 0,000 kQ -89,99° 0,000 Q -0,159 2 0,159 0 0,001 cm
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Aufg. 8.6: RC-Tiefpass
finHz wins™ 0 = w/w, U,/U, Alw) ®lw) C= 325,84 nF
10 Hz 62,83 0,055 0,998| -0,013dB -3,2°
50 Hz 314,16 0,276 0,964| -0,320dB -15,4°
100 Hz 628,32 0,553 0,875 -1,158dB -28,9°
180 Hz 1.130,97 0,995 0,709| -2,988 dB -44,9°
500 Hz 3.141,59 2,764 0,340 -9,364dB -70,1°
1.000 Hz 6.283,19 5,527 0,178| -14,990 dB -79,7°
5.000 Hz|  31.415,93 27,635 0,036| -28,835dB -87,9°
10.000 Hz|  62.831,85 55,271 0,018| -34,851dB -89,0°
Aufg. 8.6: RL-Tiefpass
fin Hz wins™ Q = w/w, U,/U, Alw) o(w) L= 2,375H
10 Hz 62,83 0,055 0,998| -0,013dB -3,2°
50 Hz 314,16 0,277 0,964| -0,321dB -15,5°
100 Hz 628,32 0,554 0,875 -1,162dB -29,0°
180 Hz 1.130,97 0,997 0,708| -2,997 dB -44,9°
500 Hz 3.141,59 2,769 0,340| -9,380dB -70,1°
1.000 Hz 6.283,19 5,539 0,178| -15,007 dB -79,8°
5.000 Hz|  31.415,93 27,693 0,036/ -28,853 dB -87,9°
10.000 Hz|  62.831,85 55,385 0,018 -34,869 dB -89,0°
Amplitudengang '
Alw
(@) 0,01 0,10 1,00 10,00 100,00
00dB | - ; : Q
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Phasengang
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0,0° 2 1 1 _ Q
_10’0° +— — s — — -
-20,0° >
-30,0° e |
-40,0° - - — N ————
-50,0° - . - N I
-60,0°
-70,0° - Sy |
-80,0° +—— - e
-90,0° +—m——— ——— — — -
-100,0° L—— _ S
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